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Question Answer Marks AO Guidance 

1 

 

  a  = 0.24 B1 1.1 CHECK additional pages, mark as seen or attach 

NB 0.2 + 0.15 + a + 0.27 + 0.14 = 1  

       

    [1]   

2 (a)  eg 3𝑥2 − 21𝑥 + 2𝑥 − 14 

 

 

(3𝑥 + 2)(𝑥 − 7) 

 

M1 

 

 

A1 

 

[2] 

1.1 

 

 

1.1 

any valid attempt at factorisation three out of four terms correct or 

signs opposite 

    

isw after factorisation 

solutions to eq=0     if no factorisation M0A0 

accept 3(x+2/3)(x-7) 

2 (b)  −
2

3
 and 7 identified M1 FT 1.1a FT from part( a) 

    −
2

3
 < x < 7 A1FT 1.1 accept     x<7∩x>-2/3 or ‘ x<7 and x>-2/3’ 

Not ≤ or ≥ 

    [2]   

3   ln
𝑦

𝐴
= ln𝑒0.02𝑡 or ln𝑦 = ln𝐴 + ln𝑒0.02𝑡 

 

𝑡 = 50ln
𝑦

𝐴
 oe 

 

t = 21 or 20.6 – 20.625 

 

M1 

 

A1 

 

 

B1 

 

[3] 

2.1 

 

1.1 

 

 

1.1 

 First stage of taking logs correct, 

 

t=(lny-lnA)/0.02 

t=(Log y-logA)/0.02log e 

 

awrt 20.6 

       

4 (a)  (
24
7

)  B1 1.1 Not necessary for B1B1  

        

   25 B1 1.1   

        

    [2]    

        

 




